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The ﬁgures in the margin zndzcate Jull marks
for the questions

- Answer either in Enghsh or in Assamese

1 Answer any ten from the following questions :
1x10=10

T ERR R CRICT! Wzﬁ‘ﬁ e fiml -
fa}” Mention one Ob_]eCthC of Indian ﬁscal

policy.
Wmﬁﬁaﬁmmwwu

/lb) What is repo rate of the RBI?
SReN ReS @ @ @& 2
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(2) ;
i (3)

‘y State one direct instrument of Indian

monetary policy. (k) Define the concept of ‘sustainable
SHeT TSI B! &er e Sray 3wy | agriculture’,
. I . CETER o[ [
(d) What is meant by financial inclusjon’ 919 4RO e
R8I SEgeF’ Mo f @I 2 () What is diversification of industries?
(e) IGiVC the meaning of Foreign Direct Seire oot 2
sieent. (m) State one main objective of the
‘Ao (e Rivansr’s o fe | Minimum Wages Act, 1948 by the
Wh Indian Government.
- ' ; :
(f agﬁiultuise , capital formation in | \s8b 576 TG S ERET 1 ey Wiﬁ
iz 1 o1 So TCEs 90 |
i Jo14 o fF 2
; 5 (n) What kind of manufacturers are called
cﬁ/‘}) Give the meaning of ‘minimum support :/ small-scale industries?
. price’ of agricultural produce. ' R @ SRS TR ST I T
JierS AWA ‘e S 3T e o | =2
(h) State one reason for the growth of (o) Define monetary policy.
. . . [ .
service sector in India recently. ; S[Eljr\‘s‘ﬁﬁ': i) i |
AreaAfoF TS SIe] CRRGT RIPR 91 IR ‘
TEY 90 2. Answer any five from the following questions
/lﬁ Wi SO e S in brief : . 2x5=10
j at is agricultural productivity? .
T il eppTgRd R e +fiobre oY S fi
3R STl 2 ~ "

|
) ] /(a) Distinguish between fiscal deficit and
() Mention one method of public sector ! primary deficit.

& disinvestment. i
e 4o RATEER @b sifern Sy w41 1 ﬁ‘ﬁﬁlmﬁwmwﬁ%ﬂﬁawmw
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(4) @

Write two characteristics

industries.

‘{EWW{@‘WM'

of small-g¢ ale

(¢) Write tWO merits of GST.
T3 Do e

What is demonetization? Mention qp¢
positive effect of dgmonetizaﬁ(m in the
Indian economy.

fgaread fF 7 SEH @S REEsr o
e SR TEd I

y/

Y

S 3R 7ER IRER TR T SRS R oy
741 R T o1 ome

Write any two measures undertaken
by the Government of India to improve
agricultural marketing.

() ‘Tertiary sector in India employs two
different kinds of people. Who are
they?

. eRed CRIRe T fftn wR T Fo
I@ | (O AW
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(5)

Mention two objectives of the National
Competition Policy of India.

wmmﬁmﬁﬁﬂ@xm
TE A

(9)

State any two problems of Public Sector
Enterprise of India.

Sed A <ed Trae R G T

o

T
3. Answer any four _from the following
questions : 5x4=20
<o fam Py R e vt T i

Explain any five instruments of fiscal
policy in India.

e TR At B @ <fevr ke
|

\/(9)

(b) Discuss the tools of monetary policy

of India.
SRS AR SRAPTHR T 3 |

lExplain the initiatives taken by the
Government to ensure that farmers get
remunerative prices for their produce.

TE @SR Beoffre AR Sffe @

SRR W SR @ AR
sl

(c)
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(6)

(d) Point out the various labour policje
of India. °

ST R xm Moz wgferrz fiar

(e) Workers are exploited in  the
urTorganized sector. Do you agree with
this view? Give reasons in support of
your answer.

RERIES 6T AR o W o @y
| SR = e TR Tew TS Ifes
foeam o

1)) What. is agricultural mechanization?
Explain the role of technology in Indian

agriculture.
FRT AT R ordw i R
SEnkusiE i

WDiscuss the role of small-scale

industries in Indian economy.

m@nwaﬁrﬁwwﬁmmmw
M

Qy Point out the main features of Indian
tax system.

SIST I IRER o1 CAREPTR Sglemiz i |
: ( Continued )

(7)
potr - FFOE the folIO\;fglxg4=40
any
swer
AP tions oIRER we

ques /) @l

A2 riculture
4ss the role of ag 10

. isC
critically 45 7 1 dia.

my
in the econo _
o A <R3 SACATTAAF I
AN B
i he problems .
ﬂ/} Dlsacl‘:sssc;le industries of India.
7 small~ WW
e T SogPTERR TP S
oy e F

rvice sector? Analyze tl'.le
tor of India

d remedies of
atl 5+5=10

at is s€ ;
(c) Wh f service sec

performance 5 - +8=10
during post 1990’s. 2
oo 7 Seeo TR PrRe SET CHIREI
ey i ReET F01
(d Explain the role of foreign investment
in the economy of India. 10
sEeE wdfs @t REGeR e,
T et i
() Give an outline of - the various
macroeconomic policies of India. - 10
ser ifdn e wtafee AT e e
AT 391 1 A
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(8)

() Give an assessment of the Government

policy towards foreign investment. 10
PR RftarR crdge SeRA T «fb
T S9RCGHA |

(99 Point out the various shortcomings of
the monetary policy of India. Suggest
some remedial measures. 6+4=10
SIS Juiie Rifen wRypR SR f |
SPIRUPTR R e g s i |

J)“' Explain the causes of low productivity -

4 of Indian agriculture. Give some

suggestions to increase agricultural
productivity. ' 6+4=10

—WSM S FRY P Seoime TRPIR IR 40

IR BeoENeETSl qf%ﬁ s fegam oo

faam o \ ‘

() Discuss the role of public sector
 industries in the economic development

o of India. 10
TR AT SS9 TR
_ﬁ?ﬂ ST F9T |- '

() What is agrarian structure? Outline the
agrarian structure of India. . 4+6=10
e s 2 SR i‘ﬁﬂ‘ MR eme
HICATRAN® 41 | :
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